ER30FE 10A R7—INRETFER

N ) ERBRINEBEEEFER
% mEERE EES 1P 16 .55 19:00
* BIREERE (BU, ARFTRITE) EES AP 17 : 00 18 : 50
% BIRERE (CP_EET‘:EG%) LB AP 17 : 05 18: 50
Y g | i# FRIIBE & =
T 11 B
EERE 12:30 1655
1531 2 | W |(pEBEED BRESEGL, 8RrEFS 12:835 17.00
BIREXE (PEEHTE) 12:35 17.05
EERE 1300 1655
155 3 | K EE%%@) m%%;g(fa‘m, aarErs) 1305 17:00
FEERH BREEhE£BFE) 1305 1705
EERE 12:30 19.00
5B 4 K |OREEER BERBREBL, #Rr7EGFD 1235 1850
BEIREXE(PERBITE) 12:35 1850
T 5 | 4
_ ) FERE 15:05
i 6 | L [EbfEdiiRi (35) BREEBEL, ARyRGS 1700
BEIREXE(PERBITE) 1510
i BEE 13:00
ERES 7 | B [EmsEdiEE (38 BREETEGW, AR &G 1305
RSB (PELBITE) 13.05
RH 8 | B |[AB®DH
78 [ 9|«
T 10| K
TR 11| K
T 12| &
EERE 12:30
ERbF 13| £ |T&= (1, 28 BRETEGL, ARrEGS 1235
BIRERB(PELBITE) 12:35
RH 14| B
TR 15| B
T 16 | W
TR 17| K
T 18| K
FEERE 16:.00 19:00
155 19| € =T BREZEBL, RErEGD 1605 1850
BIRERXB(PEEBITE) 1605 1850
K 20| £
RH 21| B8
T 22| B
T |23 w
= 24 | Kk
T 25| K
g 26 | &
EERE 12:30
ERbS 27 | £ (== (1, 25 BRSTEGL, fRsrEFS 12:35
BRERXE(PERBITE) 12:35
K 28| B
T 29| B
g 30| W
TR 31| K







